

TENDER NOTICE No. UGVCL/PROJECT/BORDER/056

SCHEDULE-B										
Estimate for rectification of Indo-Pak Boarder feeders at Nadabet under Palanpur Circle (B.K.)										
Sr. No.	Item	Particulars of Item	Unit	Supply			Erection			Grand Total in Rs.
				Qty.	Unit Rate in Rs	Total in Rs	Qty.	Unit Rate in Rs	Total in Rs	
A	Laying of new line, Rectification of line-Plumbing of Poles, providing of Stay									
1	Erection of line complete	Providing and Erection of 150x150mmx13 mtr long Girder Pole with span of 50 Mtr for over head line including excavation of pit & refilling of earth, fixing of cross arm, top fitting clamps, anti climbing devices danger board, insulators etc. complete and painting of steel poles, fabricated material used on the poles and numbering including cost of paint as per UGVCL/REC standards (All material excluding paints, Salt, coal, N/B shall be supplied by UGVCL or if not supplied then cost aof material as stated in the supply cost shall be paid by UGVCL) without concreting	Km	2.00	566929.00	1133858.0	2.00	51278.5	102557.0	1236415.00
2	Guy Set	Providing and fixing of new Guy set on existing pole.	Set	200	979.05	195810.00	200	315.00	63000.00	258810.00
3	Plumbing of Pole	Plumbing of existing girder pole	Nos				200	500.00	100000.0	100000.00
B	Rectification of damaged circuit line 02 km (Aprox.)									
										1595225.00

Signature of Tenderer

Company's Round Seal

Date:

Place

TENDER NOTICE No. UGVCL/PROJECT/BORDER/056

1	Concrete (M20)	Providing and laying RCC (1:1.5:3) concrete for foundation and muffing using (Sulphate Resisting Cement conforming to IS:12330) and 20mm and down size graded crushed aggregate including providing and fixing necessary steel/plywood shuttering, scaffolding, hacking the surface to receive plaster, machine mixing, compacting by mechanical vibrators, curing, etc complete. Concrete shall conform to IS 456. Rate shall be excluding the cost of steel reinforcement.	CMT	0.00		0.00	75	4704.58	352843.5	352843.50
2	P.C.C.	Providing and laying PCC 1:4:8 using 40 mm and down size graded stone aggregates including machine mixing, providing necessary formwork, placing, compacting by hand ramming, curing etc complete.	CMT	0.00		0.00	6.25	2771.00	17318.75	17318.75
3	Steel Reinforcement	Supply, fabrication, hoisting and placing in position HYSD reinforcement bars conforming to IS 1786 - Latest Edition Grade FE 415 as per detailed drawing and specifications including cutting, bending and tying with 18 SWG binding wire complete. The rates shall be applicable for all heights and depths. Payment shall be made as per reinforcement drawings and with theoretical weights only including all authorised laps and hooks. Unauthorized chairs, spacers and laps will not be measured and paid for.	Kg	0.00		0.00	3500	44.30	155050.0	155050.00

Signature of Tenderer

Company's Round Seal

Date:

Place

TENDER NOTICE No. UGVCL/PROJECT/BORDER/056

4	Excavation	Excavation for foundation upto 3m depth below existing ground level in any type of soil except rock. Rate to include dressing the sides and bottom, bailing out of water if encountered, shoring, strutting, backfilling with available excavated earth (in layers 150 mm compacted thickness, including watering, compaction by saturation, earth rammer, hand rammer, all complete after the construction work), and disposal of surplus excavated earth within/outside premises to an unobjectionable place, as directed by the Engineer in Charge including spreading, watering and compaction, complete.	CMT	0.00		0.00	300	228.50	68550.00	68550.00
5	Concrete (M-150)	Providing and laying RCC (1:2:4) concrete for stay foundation with provision of hook using (Sulphate Resisting Cement conforming to IS:12330) and 20mm and down size graded crushed aggregate including providing and fixing necessary steel/plywood shuttering, scaffolding, machine mixing, compacting by mechanical vibrators, curing, etc complete. Concrete shall conform to IS 456. Rate shall be excluding the cost of steel reinforcement.	CMT	0.00		0.00	5.25	4293.00	22538.25	22538.25
6	Chipped Concrete	Dismantling of RCC/PCC including carting away debris as directed by on site engineer	CMT	0.00		0.00	75.0	648.00	48600.00	48600.00

Signature of Tenderer

Company's Round Seal

Date:

Place

TENDER NOTICE No. UGVCL/PROJECT/BORDER/056

7	Erection of girder pole	Labour charges for erection of 13M length girder pole of 150mm x 150mm size as required including all tools, tackels, machinery etc complete. The scope also includes erection of stay wire as required .(Girder pole will be supplied free of cost by UGVCL)	NO.				50.0	1315.00	65750.00	65750.00
8	Demolition	Dismantling/Removal of structural steel girder pole by breaking of muffing upto 450 mm depth from ground level by gas cutting and stacking the material as directed by EIC. All required tool tackles, machinery, crane, labouretc is included in the scope.	NO.	0.00		0.00	50.0	1035.00	51750.00	51750.00
C	Estimation for Rectification of damaged foundation (Approximate 750 numbers of locations).									
1	Concrete (M20)	Providing and laying RCC (1:1.5:3) concrete for foundation and muffing using (Sulphate Resisting Cement conforming to IS:12330) and 20mm and down size graded crushed aggregate including providing and fixing necessary steel/plywood shuttering, scaffolding, hacking the surface to receive plaster, machine mixing, compacting by mechanical vibrators, curing, etc complete. Concrete shall conform to IS 456. Rate shall be excluding the cost of steel reinforcement.	CMT	0.00		0.00	108.	4704.58	508094.64	508094.64
2	Chipped Concrete	Dismantling of RCC/PCC including carting away debris as directed by on site engineer	CMT	0.00		0.00	12.0	648.00	7776.00	7776.00

Signature of Tenderer

Company's Round Seal

Date:

Place

TENDER NOTICE No. UGVCL/PROJECT/BORDER/056

3	SteelRe inforce ment	Supply, fabrication, hoisting and placing in position HYSD reinforcement bars conforming to IS 1786 - Latest Edition Grade FE 415 as per detailed drawing and specifications including cutting, bending and tying with 18 SWG binding wire complete. The rates shall be applicable for all heights and depths. Payment shall be made as per reinforcement drawings and with theoretical weights only including all authorised laps and hooks. Unauthorized chairs, spacers and laps will not be measured and paid for.	Kg	0.00	0.00	3697.50	44.30	163799.25	163799.25
4	Excava tion	Excavation for foundation upto 3m depth below existing ground level in any type of soil except rock. Rate to include dressing the sides and bottom, bailing out of water if encountered, shoring, strutting, backfilling with available excavated earth (in layers 150 mm compacted thickness, including watering, compaction by saturation, earth rammer, hand rammer, all complete after the construction work), and disposal of surplus excavated earth within/outside premises to an unobjectionable place, as directed by the Engineer in Charge including spreading, watering and compaction, complete.	CMT	0.00	0.00	187.50	228.50	42843.75	42843.75
D	Estimation for Rectification of damaged Stay foundation (Approximate 3500 numbers of locations).								

Signature of Tenderer

Company's Round Seal

Date:

Place

TENDER NOTICE No. UGVCL/PROJECT/BORDER/056

1	Demolition	Dismantling of RCC/PCC including carting away debris as directed by on site engineer.	CMT	0.00		0.00	189.00	648.00	122472.00	122472.00
2	Concrete	Providing and laying RCC 1:2:4 using 20 mm and down size graded machine crush stone aggregates including machine mixing, providing necessary formwork, placing, compacting by hand ramming , curing etc complete	CMT	0.00		0.00	686.88	4293.00	2948754.38	2948754.38
Total							1329668.0		4841697.52	6171365.52
Bidder's offer (+/-) in %= Bidder's offer (+/-) in Rs.= Final offer in Rs.=										
Final offer in words(_____)										